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Mathematies - Ordinary Level - Paper IT (300 marks)

' N.B  Drart 22Ler for discussion and comments,

Attempt Question 1 ang Four other questiong

1. (1) Find the modulusg of 3 4 41 and write down foup other complex numberg that
have the same modulysg,

(1) 15 ¢ =f(2. ~3), (1, 0), (0.3)} and g={(1.0). (0,2), (—3.2)} » Write
down the set of couples of f o e .

(1ii) 1¢ ¢ 1s the function x-»2 _ 3%, find the value of k for which f 78
T -
@&@(&, f( 0) = p ¢ (o),

Index Numbers [112 120 100 I 128" 110 I

' : G

Assigned Weights 1 2 2 I 1 I 2 ’
Calculate the composite index number, q

(v) Find the next term of the geometrie Sequence 27, =18, l2, ©tv0c0e000cey
q

(vi) Find the solution get of the inequality “X £12, y & R !

(v-ii) Find the coefficient of X in the expansion of (2 - x)s.

(viii) Find the s1ope of the tangent to tng curve y = 2y % z _ 5 .\ the point
on the curye where x = le

= (ix) Write down the uadratic e uation whoge roots are ¢ and 4,
q q
(x)  write the number 90,0415 im scientific notation,

(100 markg)

2. Find the Tooty of the equation x2 - 6x + 13 = 0, and 11lustrate thep tn the
Argand ddagram, 4180 find the Sult and the Dbroduct of the roots,

e , (40 waris)

3. (a) Factorise xJ =X+ 6.
(v) Solve the simul taneoug equationg;-

2x-3y+z=-2
5z ~ ¥+ 2z=3
31+2y—-z=ll.

(40 marks)
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i 4o Drud the graph of the function
! f1 4> R : x>x° - 1ox 4+ 6,
' ! !whereA: ;x'—4§xg4§~
: . Find from your craph
i (i) the values of x for which £(x) = 0,

(i)

Use your graph tc solve the inegquality x

3

i 5¢ In a study of a
' selected and the number of
4 is illustrated in the following table:e

- 12x

oLy

the domain of x fop which f(x) is decreasing,

particular wild plant on a farm, 100 regions of equal
wild plants found in each 1

2 Oo
(50 marks)
gize were
egion was counted, The data

No. of Plantg

2

No. of Regions

lo 70

30

10

Calculate the mean number of plants per region
decimal Places, the standargd deviation from the

6o (a) Pind the least numbe
annum, compound interest,

(n=1)

| (b) The ntn tem of & sequancs is
IThe sum of' the

8gquence ig not arithmetic,
n +5&+7.
Find, also,

LR ‘ Ts A factory makes two
it produces = boxes of Christmas and ¥ of Yule,
1000 are needed in all. ¥rite down three inegual
If the profit on a Christmas box is
boxes of each kina should be made in

8, (a) Differentiate 2 + 3x

dy,

If y = (2 + 32 + )4 s

s find
”

5y x®
X iy S

(B>

(v) Differentiate ine function f;

local maximum point of f

A0

|

l

|

i
j Verify that (-1, 2) ana (s,
|

|

|

and finud the value of

s x#£ 2,

and calculate, also, correct to two
megn,

T of years it will take £500 to amount to £760 at 15% per

(a=2)(n~3). Prove that the ,
Tirst n terms of a sequences ig %
Find the nth term and hence prove that the s
the first term and the common difference.‘

types of selection boxes, Christmas and
A% least 300 o
! and at least 200 of the Yule are necded in the month and in that

ities satisfying these conditions,

50pg and thay on a Yuls boxz
the month to obtain the meximun profit, f

4 x2 with respect to x from first pPrinciples,

dy,
dx

~ 10) are respectively a local minimum point and a

(50 marks)

equence iz arithaetic,

Tule. In a nonth
the Chriatmas boxzes
Time not more than

ig £1, how many

{50 marks)

~e

when X = -2a Y

(50 marks)




